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MHHM ZY Hib
2017.01.01
) 3 T2 (I/min )
EMXH AZHE o ( —)’;E(L) AZHE) E£3 Z3(f/cc)
S X4 A M P1 14.30 2,431 170 0.000
FEXEAHM P2 14.32 2,434 170 0.000
S XA P3 14.36 2,441 170 0.000
FEXEAHM P4 14.40 2,448 170 0.000
?| M| P5 14.12 423 30 0.001
= 27| P6 14.15 424 30 0.001
H7|ZS8EF P7 14.20 426 30 0.002
AT (A) P8 14.22 1,279 90 0.000
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2017.01.02
) 3 T2 (I/min )
EMXH AZHE o ( —)?;E(L) AZHE) E£3 Z3(f/cc)
S X4 A M P1 14.35 2,439 170 0.000
FEXEAHM P2 14.31 2,431 170 0.000
S XA P3 14.31 2,431 170 0.000
FEXEAHM P4 14.38 2,444 170 0.000
?| M| P5 14.21 426 30 0.000
= 27| P6 1417 425 30 0.001
H7|ZS8EF P7 14.23 426 30 0.001
AT (A) P8 14.25 1,282 90 0.000
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2017.01.03
) 3 T2 (I/min )
EMXH AZHE o ( —)’;E(L) AZHE) E£3 Z3(f/cc)
S X4 A M P1 14.29 2,429 170 0.000
FEXEAHM P2 14.33 2,436 170 0.000
S XA P3 14.33 2,436 170 0.000
FEXEAHM P4 14.32 2,434 170 0.000
?| M| P5 14.25 427 30 0.001
=271 P6 14.18 425 30 0.003
H7|ZS8EF P7 14.22 426 30 0.001
AT (A) P8 14.19 1,277 90 0.000
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